=ETRRTE S —ETAARR  HEH - 99.10.27
£ |2-2 BFa0 ~ RXEE | BHR | —F I (i
El (2) JEE SR #
—HRE (BE'10 5 )
LB (x+1) F O BRDUX® + x+ 11980k 5x + 3, 5ok £ () BREAX? + x + 18R =0
2X+5
RT3 F () = (¢ +x+1D)q(x) +ax+b, a
(x+1) f (x) = (X +1)(X* + x+1D)g(x) + (ax + b)(x +1) 1+l+1>a+(a+b)+ b
= (X+D(X* + x+Dg(x) +ax’ + (a+b)x+b
=X +x+D[(x+D)q(x) +a]+bx+(b-a),
Hb=5, b-a=3, Bla=2, #ea A 2x+5 .

a-+ a + a
b+ (b—a)

2. CHI=ZXREIHEA f () g f(0)=2, fQ=0, f(2)=0, f(3=8, HHK f(x) &
f(x) =x*—2x* = x+2
fEr | (—)EafEE 2

£(x) =8 (x=0)(x-1(x-2) Y (x-1)(x—-2)(x-3) L0 (x—=2)(x-3)(x-0) +0. (x=3)(x—-0)(x-1)
B-0B-DB-2)  (0-1)(0-2)(0-3) (1-2)1-3)(1-0) (2-3)(2-0)(2-1)

4 1
=§x(x—1)(x— 2) —g(x—l)(x— 2)(x—13)

=(X-D(x-=2)(x+1) =x*-2x* —=x+2 .
()38 3 XZIHAA f(x)=(x-1)(x-2)(ax+b)
x=0= f(0)=2b=2, b=1
x=3= f(3)=2(3a+b)=8, a-=1
S E)=(X=D(X=2)(x+1) = x> —2x* — X +2

3a, b BEE, % 2x- 381 3x+ 155 ax’ + bX’ - 47x - 15 (YR, Rl (a, b)=
24, 2)
fiEht | % f(x)=ax’ +bx*-47x - 15

2x-3|fx) = f(§)=0: zaJrgb—&—B:O = 3a+2b=76------ O]
2 8 4 2

X+1f(X) = f(_—1)=0: —ia+£b+£—15=0 =>—a+3b=-18:---- @
3 27 9 3

O+@x3 11b=76-54=22 .. b=2{LA0Q1EF a=24

4, INESEZTERR AT, AUOREIHEN f(x), M HEETEREH, 0 BRI (x-1)* 136403,
fFO)BREL(x=2) , (x+2) 77 hl#56R20 6 J 30, soRZIEA f(x) Ky
f(x)=x*—2x3+2x+2

it | B f()=(x-1)°*@x+b)+3, f(2)=(a+b)+3=6, f(-2)=(-27)(-2a+b)+3=30,
FH2a+b=3, -2a+b=-1, Ha=1, b=1,

£1H



fO)=(x-D°(x+1)+3, I f()=x"-2x>+2x+2 .

5.(1)3k x” —=100x +10 & DL X+ 2 iER = By
2) f(x)=2x>—-13x* —9x® +11x* +15x -17, 3k f(7) Z{Eﬁj
(1)82;(2) 59
(D eer=UE Al
X’ —100X +10 &L x + 2 (98850 B f (=2) = (—2)7 —100(=2) +10=-128+200+10=82 .
()Her=UE Al |
f(7) 52 () BRRAX—7 285K, FIM&RERE
2 — 13 -9 + 11 +15 = 17|17
+ 14 + 7 — 14 - 21 — 42
2+ 1 -2 - 3 -6, — 59
B f(7)=-59

6. 38 ZTET 2X° —3x° +8X° + 4x — 7 [&LL X* — 2x + 3 1RG0 A R
RATtR 2 +4x° - x—6 , BBy -5x+11
T ARECE, HrpuRaay 4 JORGER 0

2 44 -1 -6
1-2+3)2 +0 -3 +8 +4 7
2 -4 +6
4 -9 +8
4 -8 +12
-1 -4 +4
-1 +2 -3
-6 +7 -7
-6 +12 -18

-5 +11

Erg e 2x +4x2 —x—6, 8870 —5x+11 .

7.85%1EA f(X) =2 -9x° +6x+5, HoREHa, b, ¢, d, {#
f(x)—a+b(x—1)+c(x—1)(x—2)+d(x—1)(x—2)(x—3) . A%t (a,b,c,d) =

[ #5 | a=4,b=-7, c=3 d=2

M (SOL =) FHEE K a, b, ¢, d
O f(x)BRBAx -1, Frfserifa .
@ FHFTEAIRE, BAx-2, FiEaes=sb .
O FHFTEAIRE, BAx-3, FiEmesc.
® FHEFTERYREELE d .
F4ra bt el x -1, x-2, x=34F :

£2H



+2 -7 -1

2 -7 -1l|+4—»a
+4 6| 2

2 -3 (-7
+6 | 3

2 |+3

d

#a=4, b=-7,¢=3, d=2 .

(SOL )fUE A

TRILAX=12,3RA f(x) =a+b(x-1) +c(x=1)(x—2) +d(x-1)(x - 2)(x - 3) FE5F i &=
Xx=1=2-9+6+5=a+0+0+0, a=4

X=2=16-36+12+5=a+b+0+0, b=-7
Xx=3=54-81+18+5=a+2b+2c+0, c=3

x=0=>5=a-b+2c-6d, d=2

#a=4, b=-7,¢=3, d=2 .

8.8% f(x)=3x"—4x* -7x* —x+5, f(—%):

13
3

fif

A f (—%) s (X) BRBLX +§ eR=, AT RGE AL

3 4 -7 -1 +5 2

-2 +4 +2 2
3

3 6 -3 +1 +E
3

2. 13
B f(-=)==—.
52 f( 3) 3

9.58 %A f(X) BREA X -1HYER=Ry 2, H ) BREAx+ 2 89ER=0R -7, 5K FO0 BREL (X =D (x+2) Ky
g% | 3x-1
Bt (x-D(x+2) B, BRES—K, WREax+b,
2 1) =(x-D(x+2)q(x) + (ax+b) ,
AT =Q-DA+2q@) +(a+b)=a+b, XHer=UEEH f()=2, #a+b=20,
N f(-2)=(-2-1)(-2+2)q(-2)+(-2a+b)=-2a+b, F-2a+b=-7----- @,
PO ufFa=3, b=-1, # f(X) FREL(X-D(x+2) ARz Ay 3x -1 .

£3H



105% f(x) B 2L —“RAVZH, CHRIF(Q)=4, f(-)=1 f(-2)=-8, K (X5
f(x)= -2x% +3x+6
HUHI A% B E $6 (6 %5 TE

f(x)=4- (X+D(x+2) 1 (x=2)(x+2)

(). DD
2+1)(2+2) (-1-2)(-1+2) (-2-2)(-2+1)

=%(X2 +3X+2)—%(X2 —4)-2(x* =x—2)=-2x*+3x+6 .

11.5%a, b, c HE%, HEIP@EE DL, (2,3), (49 HIZHARES

f(x)=a+b(x-1)+c(x-1)(x-2), KF-¥f(a, b, c)f e F(3) B
WA | a=1, b=2, c=%, f(3):%

f)=a=1, Fa=1,

f(2)=a+b=3, Eb=2,

f(4)=a+3b+6c=9, Hc=

Wl

e f(3)=1+2><(3—1)+%><(3—1)><(3—2)=% .

12K ZTER X + X0 +X° = 2 R DL x + LAYER =05

7E | -1

fEtt | D) =D +(-D"+(-D°-2=1+1-1-2=-1, #xlf-1.

13.3c A0 T () BREAx + LHYERFUR =3, H f(X) BREA2x - 3EYERTUARy 4, 5K £ () FREL (x+1)(2x-3) Y

yo 14 1
& | —x-=
i = %%
it | 4 f(x)=(x+1)(2x-3)q(x)+ax+b,
HIf(-)=-a+b=-3, f(C)="a+b=4,
27 2
14 -1 14 1
Ba=—, b=—, Fl&a=UE—x—-=.
= c z NER=y R

1SR () =a +b¢ +ox+d , BRI () = F(V2) = f(%): f(7)=0, KR4 (a,b,c,d)=__.
& | a=b=c=d=0
s £00 4 (x-D(x - V2)(x—2)x-m) Vs, ELIHU R 3 7,
BILF () A AESTER, #a, b, ¢, A0,

15. %3820 f (X) BREL X —2x+ 1Ay By x -1, R 2x-3, K f(X) &
x® —3x% +5x — 4

£4H



f(X)= (% —2x+D)(x-1)+(2x=3), HI f(x)=x*-3x*+5x—4 .

16,2520 () BRDAX® + x + LHVERZUR X+ 2, g() BRDAX® + x+ 11980k 2x -1, 3K -
(1) () +g(xX) BRDAX? + x +1H9ER=0
2) F()g(X) BREL X + x+LHYER By

S | (1)3x+15(2)x-4

(D& F0)= (¢ +x+1)g, () +(x+2) ,
g(x) = (x* +x+2)q, (x) +(2x-1) ,
AIE ) +9(x) = (x* +x+ [, () + 0, ()] +[(x+2) + (2x - 1)] ,
B A+ +(2x-1D) =3x+1 .

(2) f(x)g(x)

= (¢ + X+ D[ ()G, ()0 +x-+1) + 6, (02X 1) + G, (X)(x-+ 2)] +(x+2)(2x 1) ,
SEREE (X 2)(2x =) BRDL X + X+ 18988, Bllx—4 .

17.8%5a, b 22g, f(X)=2x"+x*—ax® +4x+b o x> + x—3 %45, Ka, b 2{H A
fps | a=6, b=~
FIFERE, BT (x) AT +x-38BR, #erzth 0,
njt$6-a=0, Hb+3=0,
fifi3a=6, b=-3 .

183 f(x)=2x' ~3x* -3x* + Tx+2, # T () BRLLg(x) @R B X 2, Bpathx+4, Bk 9(x) &

g(x)=2x" -3x+1
fF(X) =g =2)+x+4, F(X)=(x+4)=(x*-2)g(x),

2x' —3x* =3x* +6x-2=(x*-2)g(X), HEEKESE g(X)=2x*-3x+1 .
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